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My lunch is (healthy) than yours.

This blue is (bright) than the one we ve seen before.

This road feels (dangerous) than the main road.

The exam was (difficult) than the exercises we did in class.
Danis (smart) than Healsey, but Gerald is (funny) than both of
them.

She appears to be (fat) since last time | saw her.

Tom is (rebel) compared to some years ago.

Those deserts are (ugly) than the ones | cook.

Madrid is a. because | thought it was better.
Apple is an b. because I'm afraid of planes.

| don't eat gummies c. more beautiful than Zaragoza.

| rather go by train d. because | prefer chocolate.

| used to buy bottled water e. older brand than Huawei.
Mikaela has done f. is harder than going to the gym.
Doing exercise at home g. a brighter exam than Niko.
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